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Chapter g
Ex 8.1



O 1. Verify by substitution that :

(i). x=4is the root of 3x—5=7

(ii). x =3 is the root of 5 + 3x =14

(iii). x =2 is the root of 3x—2=8x—12

(iv). x =4 is the root of 3x/2=6

(v).y=2istherootofy—3=2y-35

vi). x =8 is the root of%x +7=11

SOLUTION :

(i). x =4 is the root of 3x — 5=7.

Now, substituting x =4 in place of “x in the given equation 3x — 5 =7,
34)-5=17

12-5=7

7=1

Since, LHS = RHS

Hence, x =4 is the root of 3x — 5=17.

(i1). x = 3 is the root of 5 + 3x = 14.

Now, substituting x = 3 in place of ‘X in the given equation 5 + 3x = 14,
5+33)=14

5+9=14

14=14

Since, LHS = RHS

Hence, x =3 is the root of 5+ 3x = 14.

(ii1). x =2 is the root of 3x =2 = 8x — 12.

Now, substituting x = 2 in place of ‘X’ in the given equation 3x —2 = 8x — 12,
32)-2=8(2)-12

6-2=16-12

4=4

Since , LHS = RHS

Hence, x =2 is the root of 3x —2 =8x — 12.

(iv). x =4 is the root of 3x/2 = 6.

Now, substituting x =4 in place of “x’ in the given equation 3x/2 =6,
(B3x4)2=6

122=6

6=06

Since, LHS = RHS

Hence, x =4 is the root of 3x/2 =6.
(v).y=2istheroot ofy —3=2y—5.

Now, substituting y =2 in place of “y’ in the given equationy —3 =2y — 5,
2-3=2(2)-5

-1=4-5

Since, LHS =RHS

Hence, y =2 is the root of y —3 =2y — 5.

(vi). x =8 is the root of %x+7 =11

Now, substituting x = 8 in place of X’ in the given equation %X +7 =11,

1 —
1(8)+7=11



4+7=11
11=11
Since, LHS = RHS

Hence, x = 8 is the rootof%x+7 =11

Q 2. Solve each of the following equations by trial and error method :
(). x+3=12
(). x=7=10
(iii). 4x =28
(iv). 3 +7=11
(v).2x+4=3x
. X _
(vi). T 12
15
(vii). == =3
L x
(viii). ST 20
SOLUTION :

(i).x+3=12
Here, LHS =x + 3 and RHS = 12

X LHS RHS Is LHS = RHS
1 1+3=4 12 No
2 2+43=5 12 No
3 3+3=6 12 No
4 4+3=7 12 No
5 5+3=8 12 No
6 6+3=9 12 No
7 7+3=10 12 No
8 8+3=11 12 No
9 9+3=12 12 Yes

Therefore, if x =9, LHS = RHS.

Hence, x =9 is the solution to this equation.
(i1). x—=7=10

Here, LHS =x — 7 and RHS = 10.

X LHS RHS Is LHS = RHS
9 9-7=2 10 No
10 10-7=3 10 No
11 11-7=4 10 No
12 12-7=5 10 No

13 13-7=6 10 No



14 14-7=17 10 No

15 15-7=8 10 No
16 16-7=9 10 No
17 17-7=10 10 Yes

Therefore, if x =17, LHS = RHS.

Hence, x = 17 is the solution to this equation.
(iif). 4x =28

Here, LHS = 4x and RHS = 28.

X LHS RHS Is LHS = RHS
1 4x1=4 28 No
2 4x2=8 28 No
3 4x3=12 28 No
4 4x4=16 28 No
5 4x5=20 28 No
6 4x6=24 28 No
7 4x7=28 28 Yes

Therefore, if x =7, LHS =RHS
Hence, x =7 is the solution to this equation.

. X —
(v, 2+7 =11
Here,LHS:% +7 and RHS = 11.

Since RHS is a natural number, % must also be a natural number, so we must substitute values of x that are multiples of 2.

Is LHS =
x LHS RHS RHS
2
2 3 +7=8 11 No
4
4 5 +7=9 11 No
6
6 5 +7=10 11 No
8
8 S +7=11 11 Yes
Therefore, if x =8, LHS = RHS.
Hence, x = 8 is the solution to this equation.
(v).2x+4=3x
Here, LHS = 2x + 4 and RHS = 3x.
X LHS RHS Is LHS = RHS

1 2(1)+4=6 3(1)=3 No



2 20)+4=8 3(2)=6 No
3 23)+4=10 3(3)=9 No
4 2H+5=12 3(4)= 12 Yes

Therefore, if x =4, LHS = RHS.
Hence, x =4 is the solution to this equation.

(vi). =12
Here, LHS = % and RHS = 12.

Since RHS is a natural number, % must also be a natural number, so we must substitute values of x that are multiples of 4.

X LHS RHS EHLSHS -
16 18- 2 NO
)
20 2= 2 NO
p R 12 NO
28 2= 12 NO
. 2= 12 NO
36 22=9 12 NO
40 =10 12 NO
a4 Lo 2 NO
48 Dopp 12 Yes

Therefore, if x =48, LHS = RHS.

Hence, x = 48 is the solution to this equation.
ii). 2 =3
Here, LHS = <> and RHS = 3.

Since RHS is a natural number, IX—S must also be a natural number , so we must substitute values of x that are factors of 15.

x  LHS RHS  Is LHS = RHS
1 2ens 3 No
3 2= 3 No
5 % = 3 Yes

Therefore, if x =5, LHS = RHS.
Hence, x =5 is the solution to this equation.

(vii). % =20



Here, LHS = % and RHS = 20.

Since RHS is a natural number, == must also be a natural number, so we must substitute values of x that are multiples of 18.

718

X LHS RHS EHLSHS -
324 2218 20 No
2 22-19 20 No
360 2020 20 Yes

Therefore, if x = 360, LHS = RHS.

Hence, x = 360 is the solution to this equation.



